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I Dispute 9"1/7" re: essential 1p of goods n"nn (Analysis of “a mwn — example of point in transaction when it is irretractable)
a ™ —myn, rabbis introduced na*wn to protect buyer in case of v1K to his goods after having paid (before n2>wn)
b 59 -ny»wn(asperv.l)
i ™ —71nexcludes ypip from limitations of N1 (can’t be “handed over”)
ii 9™ - thatis inferred from mp R (unnecessary)
1 » -necessary to teach that nk1R applies to both buyer and seller
2 9" —infers both of those — np &: application to seller; T'n teaches nawn
¢ Arguments:
i w"’s opinion at the end of our nwn — whoever holds the qo3 has control
1 Supports ™
2 9" -indeed, v disagrees — and that is the root of the dispute nnan/v™
3 " —root of their dispute is whether to accept XTon "3, N2>wn mpn is for the benefit of both seller and buyer
(a) w™ doesn’t accept - only for benefit of seller
(b) w©nOIN accept it
ii ~ Penultimate clause in nMwn —..»79¥ M 1INR 728
1  Supports »" — that's why there’s an ">ar” (meaning, he’s not legally bound to complete the sale before paying)
2 9" —the Yar is due to his oral commitment to complete the transaction
(a) Challenge: words alone don’t generate y19w »m:
(i) w71 even though a mbvisnp a gold coin and not the inverse,
1. Nonetheless: someone who doesn’t stand by his word is under the imprecation of ...y79v 'm
2. However: someone who merely doesn’t complete a transaction to which he orally agreed isn’t well-
thought of by nman —but there is no greater imprecation on him (i.e. not a y19v ')
(if) Answer: an oral agreement where money has changed hands generates 19w ’n;
1. But: an oral agreement without money changing hands only rises to level of 112’0 nmm o'non M7 PR
d  ~27 support for 9™ from vv.2-3 and from a ®Rn»71:
i o109 v. 2 lists pwip and T nmwn, which are interpreted by X7on "1 as variations of mTpa:
1 7 npwn if the Ny set aside a "3 as a 119wn and he then refuses to hand it over
2 jpwy if the hirer sets aside a guarantee for payment to his workers and then refuses to hand it over
3 Then:v.3 (returning these things) omits 1 nmwn
(a) Explanation: since the mbn never took it (n2»wn), there is nothing to return = n”n Nnp NwN
(i) Challenge (899 "1to #37): perhaps it is included under rubric of pwy
1. Case: worker received surety, then entrusted it to hirer as 17pa
2. Comeback: we could posit the same with T nmwn — where the nmYn got the own and returned it to
the nmY as a PTpa
a. Answer: had text restated T nmwn, we may have said this —neither support nor defeat 9"
b. However: now that the text omitted it, it is support for 9"
4 Challenge: v - the text does (allude to) a return of ™ nmwn —in v. 4 (as per 27)
(a) Answer: but it doesn’t state a return of T nmwn explicitly
ii ~ ap»7x if someone gave a coin of w1pn to a bathouse attendant — Yyn
1 27 only a3, since there are no goods for him to give (n2’wn), his service has already been completed
(a) But: in case of barber, (e.g) no n»yn until there is n3>wn of the goods
(b) Challenge: we find that giving coins of wTpn to barber generates immediate liability for noyn
(c) Answer: that is if the barber is non-Jewish (where mnp myn according to all)
(i) Support: ruling that if he gives coins to barber etc. —no n%vn until N2>¥n — resolved by YR’ vs. 1
iii ~ Challenge: 3 rules that n”nn mMnp Mmyn and "% found a 8n1a that a wholesaler who buys with wTpn myn —5yn
1 5"s defense: those are according to w™
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